The FORSYDESsystem which performs the the Fast Fourier lranstorm can be
defined in terms of atoms as:

fftg k vs = bitrevg((stage & kern) S wvs) (1)

where the constructors

stage wdt = concatg o (segment & twiddles) o groupg wdt (2)
segment t = undualsg o (butterfly ¢ &) o dualsg (3)
butterfly w = (A o 1 — xo + w1, x0 — WT1) A) P (4)

are aided by the number generators

kern = iterateg (x2) 2 (5)

twiddles = (reverseg o bitrevg o takeg (lgthg vs/2))(wgen <& (1..)) (6)
2 -1

wgen © = — n(z—1) (7)

lgth. vs



